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HUX ENGENHARIA LTDA

CREA/RS226430
N

Responsavel Técnico

Humberto Luiz de Carvalho Enchaki CREA/RS 089568-D
Avenida Assis Brasil n® 3532/615 Bairro Lindoia Porto Alegre RS 91010-003
Fone: (51)984245083 (51)985355083 email: humbertohux@gmail.com

ENGENHARIA LTDA

Obra: AREA TOTAL DO PROJET
RESIDENCIAL DOUGLAS 108,54 m?
I'Localizagéo: YeioADE:
Rua Serra Azul n°® 103 Vila Elza Viamao- RS
Projeto: ARQUIVO DWG:
PROJETO ESTRUTURAL Planta Estrutural Residencial Douglas.dwg
Conteudo: OBSERVAGOES:

PROJETO ESTRUTURAL COM SAPATAS

Responsavel Técnico:

Eng.Humberto Luiz de Carvalho Enchaki CREA 089568-D

Proprietario:

Douglas Cardoso Dias

CARVALHO




